



Line#	Part Number	Part Description		Qty	Unit	Extended
EDH						
1	DP8PPC	Panel to Panel Connector, In Line, 10 P	ack ack	1	\$22.00	\$22.00
2	DB1PWSL	Panel-to-Worksurface Bracket, Left	Panel-to-Worksurface Bracket, Left		\$9.00	\$9.00
	118T	PAINT: Bright White (Textured)	Paint Finish			
3	DB1PWSPWH	Panel-to-Worksurface Bracket, for Work	surface Height Panels, Pair	1	\$57.00	\$57.00
	118T	PAINT: Bright White (Textured)	Paint Finish			
4	DB1PWSR	Panel-to-Worksurface Bracket, Right		3	\$9.00	\$27.00
	118T	PAINT: Bright White (Textured)	Paint Finish			
5	DB1WR54	Stiffening Strap, 54W		1	\$75.00	\$75.00
	NA	PAINT: Black	Base Finish			
6	DP1AUECTP	End Cap for Frameless Add Up (packaç	ge of 10)	1	\$45.00	\$45.00
	118T	PAINT: Bright White (Textured)	Paint Finish			
7	DP5PEWH	Panel End, Worksurface Height, metal f	lat	4	\$72.00	\$288.00
	118T	PAINT: Bright White (Textured)	Paint Finish			
8	DP5PT60CP	Concealed Post Panel Top Cap, 60W p with full view or topway frames	Concealed Post Panel Top Cap, 60W plus post, flat metal, for use with full view or topway frames		\$0.00	\$0.00
	118T	PAINT: Bright White (Textured)	Paint Finish			
9	DP5TCTSP	Panel-to-Panel Top Cap Transition, use	ed with metal flat - Single Pack	2	\$7.00	\$14.00
	118T	PAINT: Bright White (Textured)	Paint Finish			
10	DP8POWHCPF	Concealed Post, Tile to Floor, Worksurface Height		2	\$0.00	\$0.00
	118T	PAINT: Bright White (Textured)	Paint Finish			
11	DP1AU1460VG	Frameless Add Up, Glass, 14Hx60W, Full View		2	\$933.00	\$1,866.00
	118T	FRAME: Bright White (Textured)	Frame Finish			
	GL13	GLASS: Powder	Glass Type			
12	DP1AU1478VG	Frameless Add Up, Glass, 14Hx78W, Full View		1	\$1,179.00	\$1,179.00
	118T GL13	FRAME: Bright White (Textured) GLASS: Powder	Frame Finish Glass Type			
13	DP1SOWH30	Fabric Tile, Worksurface Height, for 30\		4	\$150.00	\$600.00
	(W1360)	FABRIC: Annex (Gr10)	Fabric Selection			
	W13601	COL: Salt	Annex Color Selection			
14	DP3L1WH60EPEF	Concealed Post Laminate Tile, Tile to Floor, Worksurface Height, for double 30W Panels, Double with Post		2	\$489.00	\$978.00
	118	LAM: Bright White	Laminate Finish			
	118	EDGE: Bright White	Edgeband Finish			
15	D1R6030N	Worksurface, Rectangular, 60Wx30D, r	no grommet	2	\$493.00	\$986.00



Line#	Part Number	Part Description		Qty	Unit	Extended
	(CORE)	Core Laminates	Surface Finish Type			
	118	LAM: Bright White	Laminate Finish			
	(CORE)	Core Edgebands	Edgeband Finish Type			
	118	EDGE: Bright White	Edgeband Finish			
16	D1R7830N	Worksurface, Rectangular, 78Wx30D,	no grommet	1	\$608.00	\$608.00
	(CORE)	Core Laminates	Surface Finish Type			
	118	LAM: Bright White	Laminate Finish			
	(CORE)	Core Edgebands	Edgeband Finish Type			
	118	EDGE: Bright White	Edgeband Finish			
17	DP8VRFWH30	Build-to-Spec Panel Frame, Full View, Fabric to Raceway Side 1/Fabric to Floor Side 2, Worksurface Heightx30W		4	\$330.00	\$1,320.00
	3	TOPCAP: None	Topcap Profile			
	NA	no finish required	Top Cap Finish			
	K	RACE: with Knockouts	Raceway Knockouts			
	(CORE)	Core Paints	Base Raceway Finish Type			
	118T	RACE: Bright White (Textured)	Base Raceway Finish			
18	DP8VMMRRWH18	Preconfigured Panel, Full View, Monolithic/Monolithic, Fabric to Raceway Side 1 & 2, Worksurface Heightx18W		1	\$456.00	\$456.00
		•	-			
	3	TOPCAP: None	Topcap Profile			
	NA	no finish required	Top Cap Finish			
	K	RACE: with Knockouts	Raceway Knockouts			
	(CORE)	Core Paints	Base Raceway Finish Type			
	118T	RACE: Bright White (Textured)	Base Raceway Finish			
	(W1360)	FABRIC: Annex (Gr10)	Fabric Selection			
	W13601	COL: Salt	Annex Color Selection			
19	DP8VMMRRWH60	Preconfigured Panel, Full View, Monolithic/Monolithic, Fabric to Raceway Side 1 & 2, Worksurface Heightx60W		3	\$854.00	\$2,562.00
	3	TOPCAP: None	Topcap Profile			
	NA	no finish required	Top Cap Finish			
	K	RACE: with Knockouts	Raceway Knockouts			
	(CORE)	Core Paints	Base Raceway Finish Type			
	118T	RACE: Bright White (Textured)	Base Raceway Finish			
	(W1360)	FABRIC: Annex (Gr10)	Fabric Selection			
	W13601	COL: Salt	Annex Color Selection			
				Sub-Total		\$11,092.00
EES						
20	OR-BKT-SM-A	Worksurface Mounted Bracket(2)		2	\$181.00	\$362.00
21	2ORCH-F-LT	Front Letter Tray Double, 10-1/4Wx13Dx7-1/4H		2	\$116.00	\$232.00
	CL	FINISH: Clear	Accessories Finish Selection			
22	ORCH-PC	Pencil Cup, 5Wx3Dx4H		2	\$34.00	\$68.00
						Dogo 2 of F

#2215



Line#	Part Number	Part Description		Qty	Unit	Extended
	CL	FINISH: Clear	Accessories Finish Selection			
23	SAPMASCLMPDPK	Sapper Single Arm Kit, deep table clamp mount, 16" mast, movement joints, adjustment knob, cable management clips		6	\$369.00	\$2,214.00
	118 B	PAINT: Bright White KNOB: Black	Finish Selection Adjustment Knob Finish Selection			
24	OR-SL-06-24	Slatboard, 24Wx6-1/2H		2	\$352.00	\$704.00
	(CORE) 118 ORBKT SMA	Core Paints SLAT: Bright White OPTION: Orchestra Bracket BRK: Worksurface-Mounted no bracket suffix necessary	Slatboard Finish Type Slatboard Finish AUTO Mounting Bracket Selection auto	Sub-Total		\$2.500.000
				Sub-Total		\$3,580.00
ELS						
25	WLLB	Locker L Bracket, for use with 20" and	24" side mounted worksurface	2	\$45.00	\$90.00
26	WSPCFOM4230L	Parallel Credenza Stacker with Markerboard Back 42H (when stacked on credenza), 30Wx12D, Front Access Open, laminate		1	\$574.00	\$574.00
	118 118	CASE: Bright White TOP: Bright White	Laminate Finish Laminate Top			
27	WSWSAB421230L	Worksurface Stacker with Inset Back 4 desktop), 12Wx30D, Side Access, lam		4	\$458.00	\$1,832.00
	118 118	CASE: Bright White TOP: Bright White	Laminate Finish Laminate Top			
28	WSWT4230	Worksurface Stacker Tackboard Insert 42Hx30W, for use with Dividends Horizon Top		2	\$173.00	\$346.00
	(W1360) W13601	FABRIC: Annex (Gr10) COL: Salt	Fabric Selection Annex Color Selection			
29	WP2812F1LHLD	Pedestal 28Hx12Wx24D, Full Height Door and 1 Shelf, Left Hand, laminate, digital keypad locking		1	\$1,370.00	\$1,370.00
20	118 118 T 118 A NO	CASE: Bright White FRONT: Bright White PULL STYLE: 10" Finger PULL: Bright White (smooth) LOCK: Automatic LOCK FINISH: Brushed Nickel	Laminate Case Finish Laminate Front Finish Pull Type Finger Pull Finish Digital Lock Style Digital Lock Finish	2	\$4.740.00	\$2,420.00
30	WP2812SOLHLD	Pedestal 28Hx12Wx24D, Slide Out, Le keypad locking	ert mand, laminate, digital	2	\$1,719.00	\$3,438.00
	118 118	CASE: Bright White FRONT: Bright White	Laminate Case Finish Laminate Front Finish			

#2215



Line#	Part Number	Part Description		Qty	Unit	Extended
	T	PULL STYLE: 8" Finger	Pull Type			
	118	PULL: Bright White (smooth)	Finger Pull Finish			
	Α	LOCK: Automatic	Digital Lock Style			
	NO	LOCK FINISH: Brushed Nickel	Digital Lock Finish			
31	WC2248O18B30LD	Credenza 22H 48W 20D, Open 18 - Box/File 30, laminate, digital keypad locking		1	\$2,665.00	\$2,665.00
	118	CASE: Bright White	Laminate Case Finish			
	118	FRONT: Bright White	Laminate Front Finish			
	118	TOP: Bright White	Laminate Top			
	T	PULL STYLE: 10" Finger	Pull Type			
	118	PULL: Bright White (smooth)	Finger Pull Finish			
	М	LOCK: Manual	Digital Lock Style			
	NO	LOCK FINISH: Brushed Nickel	Digital Lock Finish			
				Sub-Total		\$10,315.00
ESS						
32	441HA2SXHC	ReGeneration by Knoll flex back net task chair, height adjustable arms, plastic base, standard cylinder, no lumbar, hard casters, knockdown		6	\$999.00	\$5,994.00
	DK	FINISH: Dark	Finish Color			
	03	BACK: Pebble	Flex Back Net Color			
	USF	SEAT: Ultra Seat Foam	Seat Option			
	~	Standard Textile or Leather	Cal 133 Option			
	(K1523)	TEX: Hourglass (A)	Textile Selection			
	K152311	COL: Tart	Hourglass Color Selection			
				Sub-Total		\$5,994.00
ЕТО						
33	TBCEF5328G	Tone Electric Height Adjustable C-Leg Table Base, Fixed Width 53W x 28D, with glides (for use with 60W x 30D nominal top)		2	\$2,864.00	\$5,728.00
	S	SWITCH: Standard	Electric Switch Selection			
	118	PAINT: Bright White (Smooth)	Paint Finish			
34	TBCEF7128G	Tone Electric Height Adjustable C-Leg Table Base, Fixed Width 71W x 28D, with glides (for use with 78W x 30D nominal top)		1	\$2,889.00	\$2,889.00
	S	SWITCH: Standard	Electric Switch Selection			
	118	PAINT: Bright White (Smooth)	Paint Finish			
35	TTDR5829N	Tone Dividends Horizon Table Top, Rectangular, 58W x 29D, no grommet		2	\$493.00	\$986.00
	(CORE)	Core Laminates	Surface Finish Type			
	118	LAM: Bright White	Laminate Finish			
	118	EDGE: Bright White	Edgeband Finish			
		-	-			

#2215



Line#	Part Number	Part Description		Qty	Unit	Extended
36	TTDR7629N	Tone Dividends Horizon Table Top, Rect grommet	1	\$608.00	\$608.00	
	(CORE)	Core Laminates	Surface Finish Type			
	118	LAM: Bright White	Laminate Finish			
	118	EDGE: Bright White	Edgeband Finish			
				Sub-Total		\$10,211.00

Grand Total

\$41,192.00